C:# Checking Division Answers Name:

Check each answer. Determine if theanswer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3
D) 236+9=2617 2) 478+6=159r1 4
5.
6.
3) 837+6=139r2 4) 313+4=78r1 !
8.
9.
10.
5) 835+6=139r4 6) 109+3=18r1
7) 767+8=9517 8 405+9=67r3
9 421+7=60r1 10) 133+2=66r1
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Checking Division Answers Name: Answer Key
Check each answer. Determine if theanswer is'correct' or 'not'. Answers
7/ Division problems can be 263+ 8=32r7 182+6=2915
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. not
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 236:9=2617 26 2) 478:6=159r1 159 4. __correct
*x 9 x 6 5. not
234 954
+ 7 + 1 6. not
241 955
7. correct
3 837+6=139r2 139 4) 313+4=78r1 78
x 6 x 4 8 not
834 312
836 513 10. correct
5 835+6=139r4 139 6) 109+3=18r1 18
X 6 x 3
834 54
+ 4 + 1
838 55
7) 767+8=9517 95 8 405+9=67r3 67
x 8 x 9
760 603
+ 7 + 3
767 606
9 421+7=60r1 60 10) 133+2=66r11 66
x 7 x 2
420 132
+ 1 + 1
421 133
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